- !

(oot STRTAC Asb. __d;::sf:

Y | MM T ROBUOO Ot @bt

| COURSE 1MATS o), =z
. DIV APTNCST " 130 0 lpee piarp :“Fmi-“‘ﬁp"rg?ﬁﬁ 2o .
8 |MATRT e nto: 19 [y €501 J20Ls oY ,

W N d=-3c_2-p . B 1 o
Ay e

» e Ol eting K

9 J".:tl’:.’.?-:t:- 35 “f'$-:a"*’—'g—-o

-LH‘
L
. |
»
-
-\‘ : — 3_.{_-::{3:}_-‘_ J o 2 —_— = __
—~ = LS _pepeacticider as it Setdfies e Esiead for i
._h-“i-— = __m;ﬁjj' :_!_

: @,Zg.)._-.it;_zjgcfﬁ Sacd Y5 = b
- fetion
= | S o= g0c13 Nz oed G
o |3Yyc-doctady By Y
- ST Nlizly ik
o H=_2oct? N o S
= itk== /S

éj =7 . f"?FﬂefT? =

|0’9’1 & e
for peperd fc.f_.!a.r?jy' sl

Y300 243~ sl

| 115 oot peqpenelicudec 4as.




| WL =2
. I - - III i E.)I .
III o 1 of Sxy- =2 at-Z
v
| ~ Solwtien?

) '.'."'.I-‘ Lo [ et
]I of - -"|."||..‘II

I| G 2l - 3{"3”-‘_4:_—}#.."1 2l :f] -0
| : ciar. el

|
I Doy '-aﬂ,ﬁf Wyt ’E»';?c‘.é_‘.,fi, 1 Bj .
I| C 'F? v Cf.?" =

|’ .'.?;'«'r’-lrﬂj.}_j_ug.l_'ﬂ 4 gg{%y_ =
x -

|| cloe ]
22043y Jy (991 32) o
| dx -
{ . oht {‘gj?ra:i: -7 ?("J‘_‘;?}f
cloc _
Cd i -ovtay
ol A1 3¢

/_ . rﬁm_ _:_ﬂ
elx [9e=1Y-9  9r5 003
e 1,?,?_ } 3(19_ MR i

70 6/ _y’gfyﬁai_ oY = mrice. Siﬁ_,-?

=5 Ve ?-_:;J.’C{’ifﬂ_’_‘f.?______

o= = S A |
= 5

e

Lk J133e -3
HopAdx - 15

- 2

{




hy

— i
G
YU doe — E"".\;

- .ujﬂj{ v

LEL -




